Solving Linear Equations Level 5
Solve these equations:

1. a + 4 = 5

2. b + 3 = 6
3. c + 4 = 9


4. p - 3 = 6
5. q - 2 = 2


6. d - 6 = 2
7. 2p = 6




8. 4r = 8
9. 5t = 20




10. a  =  6

            2
11. b  =   12



           5
12. s  =   5
           4

13. 4 + r = 7

14. 6 + e = 7
15. 6x – 12
=
36
16. 4x – 8
=
24
17. 9x – 6
= 
39
18. 10x – 19
=
81
19. 12x + 7
=
79
20. 3x – 12
=
39
21. 5x + 9
=
64
22. 2x – 101
=
499
23. 3x + 58
=
100
24. 11y – 16
=
72

Linear Equations Level 5

1
6x + 7 
=
25

2
4x + 12
=
48

3
9x + 9
=
81

4
11x + 6
=
61

5
10x + 12
=
62

6
3x + 22
=
43

7
2x + 8
=
38

8
3x + 8
=
98

9
4x + 6
=
34

10
6x + 2
=
68

11
7x + 9
=
37

12
5x + 5
=
85

13
8x + 9
=
65

14
9x + 3
=
75

15
4x + 5
=
41

16
2x + 9
=
33

17
6x + 8
=
50

18
7x + 25
=
102

19
8x + 38
=
94

20
14x + 75
=
145

Linear Equations Level 6

Find the value of the missing letter in each of the equations below, show all your working.

1.

a.  2t = 24


b.  3g = 18


c.  4t = 20

d.  x + 12 = 15

e.  y + 13 = 31

f.  3d + 15 = 42

g.  5c + 4 = 19

h.  2p + 23 = 59

i.  7p + 9 = 81

2.

a.  10x + 1 = 4x + 19
b.  7x + 6 = 2x + 41 
c.  2x + 23 = 5x + 5

d.  11y + 4 = 4y + 25
e.  13r + 11 = 15r + 3
f.  3h + 4 = h + 16

g.  t + 12 = 3t

h.  9g + 17 = 8g + 28
i.  5d + 23 = 7d + 18

3.  

a.  t - 6 = 13


b.  2t - 4 = 22

c.  4r - 9 = 35

d.  32 = 5g - 3

e.  f/3 = 6


f.  k/3 + 4 = 7

g.  m/5 - 6 = 0

h.  3(r - 3) = 15

i.  6(s + 2) + 5 = 59

Linear Equations Level 6
1
4x + 10 = 3x + 27
2
8x – 15 = 3x + 40

3
9x + 14 = 5x + 46

4
10x + 7 = 4x – 11

5
7x + 12 = 4x – 36

6
3x + 7
 = 10x – 21

7
10x + 3x + 2x + 4
= 5x + 31

8
2(2x + 7) = 34

9
2(3x + 4) = x + 28

10
3(2x + 9) = 3(x + 15)


11
4(3x – 6) = 2(2x + 18)
12
5(2x – 7) = 3(3x + 4)

13
2(4x – 6) = 2(3x + 18)
14
3(3x – 7) = 4(3x + 3)


15
x(4 + 9) = 6(2x + 3)


16
3(5x – 2) = 4x + 2x + x + 102


17
2(2.5x + 4) = 2x – 2(x – 5)

18
2(x + 3) + 2(x – 1)
= 3(x + 10)

19
3(x + 6) + 4(2x – 1) = 2(x + 11) – 3(x + 4)

Linear Equations Level 6

1.
5t + 7 = 3t + 10


2.
4g + 7 = 3g + 9

3.
2d + 4 = 5d - 6


4.
6k - 3 = 2k + 7

5.
2 ( a + 3 ) = 7


6.
5 ( 2k - 4 ) = 15

7.
5 = 2 ( 2d + 7 )


8.
8 = 4 ( 7p - 3 )

9.
2 ( 3p + 2 ) = 5p - 7

10.
2 ( 6t + 2 ) = 3 ( 5t - 6 )

11.
5( x + 2 )  =  30


12.
6( x - 2 )  =  1

13.
4( x + 1 )  =  9x


14.
5( x - 4 )  =  3x - 7

15.
3( 4x - 5 ) - 5( 2x - 3 )  =  4( x - 1 )

16.
6( x + 5 ) - 5( 3x - 4 )  =  11 + 3( 2x - 7 )

17.
3( 5x + 2 ) - ( 9x - 8 )  =  7( x - 4 ) + ( x + 12 )

18.
8x - 5( 2x + 3 ) - (1 - 6x )  =  8 + ( 4 + 6x )

19.
5( 3x - 7 ) + 2( 9 - 2x )  =  8x - ( 2x + 1 ) - 16

20.
3( 5x - 4 ) - 7( 2x - 3 )  =  3( x + 1 ) + 5

Linear Equations Level 5 & 6

Solve the following equations.

1.  x + 3 = 8


2.  a + 6 =  5


3.  x + 27 = 53

4.  36 + x = 17


5.  27 = x + 4


6.  20 = a + 21

7.  3.5 + b =  4.6

8.  4½  =  x + 2½

9.  x + 12.3 = 16.7

10.  x - 2 = 3


11.  41 = x - 16

12.  x - 4 = -6

13.  -22 = b - 19

14.  c - 0.6 =  -2.4

15.  x - 2½ = 4

16.  7x = 28


17.  36 = 9a


18.  3a = -10

19.  4c = 18


20.  a = 4


21.  x = 1.5

                                                       2   


      10

22.  c = 8


23.  3x + 5 = 11

24.  5x + 5 = 10

      11

25.  9x - 5 = 22

26.  11x - 19 = 102

27.  7 = 3a - 2

28.  x + 1 = 2


29.  c + 2 = 3


30.  x - 4 = 0

       2


                   5



       2

31.  b + 0.5 = 1

31.  2x = 4


32.  3c = 1½

          2



           3



          4

33. 12 = 1½ x


34.  4½ x + 5 = 14

35.  2½ x + 2.2 = 22.2

36.  5x + 3 = 2x + 15

37.  6x + 5 = 3x + 14

38. 10x + 3 = 4x + 21

39.  11x - 26 = 10x + 18
40.  8x - 12 = 5x - 3

41.  5x - 4 = 2x + 5

42.  16x - 35 = 7x - 8

43.  8(x + 1) = 24

44.  10(x + 1) = 50

45.  5(x + 3) = 25

46.  5(x - 3) = 30

47.  2(x + 16) = 8(x + 1)

48.  6(x - 5) = 5(x - 4)

49.  a + 2(a + 1) = 8

50.  4(x - 6) = 3(x - 1)

